READY TO GO

03 3o
Connectors x 2 Shifter Plate x 1 w;a\

Loosen the Hand Knob Bolts

on Part A. Expand the Rig by
depressing the padel panel.

Cable Straps x 5 Universal Hex Tool x 3
@ @ Y Step 3 Y Step 4

)»\)\)\)\)W w)\)mm)

S

Hand Knob Bolt x 4 M6 12mm Bolts x 4 M8 12mm Bolts x 4

O) ®
)DWW)\)\)

&

l

Slide the assembled Step 2

Flat Washers Bolt Nuts components into Part A.
8mm by 20mm x 8 M6 x 8 . P .
M8 40mm Bolts x 2 8mm by 30mm x 4 M8 x 6 Tighten with the Hand

Knob Bolts.

D, ©

Install the Shifter Plate on
WW either side of Part A now.

[
g

M6 16mm Bolts x 14
Balance Plates x 4 Universal Spanner x 2 M6 20mm Bolts x 4



USER GUIDE

Please take extra care when assembling the product;
Please be careful when adjusting the position of the cockpit panel;
This Sim Rig is built only for gaming purpose;
Please do not sit on the Sim Rig;
This Sim Rig is designed for only one person’s use at a time;
Please refrain from violent movement when using the Sim Rig; got your back on every mission
Please be cautious about extended metal parts of the Sim Rig;
Clean with gentle cleansers if necessary. Do not scrub excessively;
All parts should be checked regularly to ensure the Sim Rig is safe to
be used;
. Stop using the product immediately if the Sim Rig is found to be dam-
aged. Please check the maintenance guide on our website or contact
us via email sales@zenoxstore.com for more information.

fo €2 =1 o O S W =

=
o

R FZa#

L E A ARSI ;

B SRR R IR AR /D

LWERREREEHEFEZH,;

VI ES S EL EER L,

I EEZ Ot — A RRFER;

EREHLER, Y2ERBRESD,;

FETEENERERE, FEINE /D,

HRBRHLE, S7EAEEAENEERRKNEE, URBEEH,
AEHREEERBHETHREARR, BRERARE;
NBBRERSUHEETHIEER, B IEER, HEERNTE, MEEM
B, FHAERAE LWREENSEEsales@zenoxstore.com,

= 42 £9 1 o0 Gal g= 9 ) =

o

Need help with assembling ? Check out the video guides on our website! H - H H
BERHEE? B L ZenoxE R EIE EEATHA Plica-X Simulator Rig
https://www.zenoxstore.com/pages/assembly-guides

> li'i‘u INSTALLATION MANUAL
B https://www.zenoxstore.com

EHELR: (+852) 65634820
EHEE: sales@zenoxstore.com



